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Attachment: Exam questions 
Table 1: Module‐related exam questions at the end of the semester 

Summer semester 2020 (L1 a)  Winter semester 2020/21 (L2 & L3 a) 

[TypeA] Which statement about alcohol consumption is 
most accurate? 
1. A standard glass of alcohol contains approx. 20 g of 

pure alcohol 

2. According to the definition of the German Centre for 

Addiction Issues (Deutsche Hauptstelle für 

Suchtfragen ‐ DHS), "low‐risk consumption" among 

men means up to 3 standard drinks per drinking 

session. 

3. About 50 litres of pure alcohol are drunk per capita 

per year in Germany. 

4. At‐risk consumption affects about 2% of Germans 

between the ages of 18 and 64. (Correct) 

5. A litre glass of beer contains approx. 60 g of pure 

alcohol. 

 

[TypeA] Mr Miller (60 years old, in employment) comes 
to your family practice today. In addition to cigarettes, 
Mr Miller states that he consumes a bottle of wine 
almost every day. They suspect dependency. Which of 
the following questions is not part of the CAGE 
questionnaire? 
1. Have you ever had problems at work because of 

drinking? (Correct) 

2. Have you ever felt guilty about drinking? 

3. Have you ever felt you needed to cut down on your 

drinking? 

4. Have you ever felt the needed a drink first thing in 

the morning to become fit and alert? 

5. Have people annoyed you by criticising your 

drinking? 

[TypeA] You are a general practitioner in a practice. Ms 
Smith, a chemist with a PhD and a good income, comes to 
you. She hopes that today's appointment will help her to 
stop smoking, as she is unable to stop smoking 
permanently despite being pregnant (6 weeks). Which 
statement does not apply? 
1. This makes her one of 12 % of women in Germany 

who smoke during pregnancy, regardless of their 

social status. 

2. Irrespective of pregnancy and social status, this places 

her among the 20 % of women who smoke in 

Germany. 

3. In the transtheoretical model, she is therefore in the 

preparation stage. 

4. She is therefore among only less than 3% of pregnant 

women with high social status who smoke during 

pregnancy. 

5. You can help her to stop smoking quickly by 

prescribing a medicine such as varenicline. (Correct) 

[TypeA] The test gives no indication of dependence. 
According to the amount he drinks, however, Mr. Miller 
has a high‐risk level of consumption, but does not wish 
to change the amount he drinks in the near future. This 
places him at the precontemplation stage in Prochaska 
and di Clemente's model.  

What is the most important thing you should do at this 
juncture? 

1. Above all, point out to him the consequences of his 
current level of consumption. 

2. Persuade him to drink less now. 
3. Agree on concrete goals for reducing the amount he 

drinks. 
4. Let him make suggestions on how he can reduce his 

consumption. 
5. Arouse interest in the topic of alcohol consumption 

by providing information. (Correct) 

 
a L: Learning objectives according to Table 1. 

 

 

 

 

 


